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1. Introduction
In the last RAN4#76 meeting, WF[1] on specification of emissions limits was agreed. According to the agreed WF[1], RAN4 should make the decision at RAN4#76bis on which option described below is applied for the scaling factor [#scale] of emissions.

· (i) enumerating the AAS-ETACs
· (ii) min(# active transmitters, 8).
In this contribution, we present our view and proposal on this open issue.

2. Discussion
In the RAN4#76 meeting, following were agreed [1].
====start of reference====

1. The scaling factor, [#scale] for emissions is set by either (i) enumerating the AAS-ETACs or (ii) min(# active transmitters, 8).

· As this is an urgent issue to decide in order to complete the AAS specifications in release 13, a decision on which option to use should be made as RAN4#76bis

· Companies should indicate in contributions for RAN4#76bis:

· That the option they favor is well defined and robust

· If they reject an option, specifically in detail why they object

2. Once [#scale] has been clarified, the emissions requirement for a band is stated as:

[#scale] * 36/37.104 requirement

This is on the basis that there is an allowance of one times the current requirement per [#scale], and the testable requirement is on the total emissions from all transceivers.

3. Combining of signals from two antenna connectors after the transceiver array boundary is not possible
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====end of reference====
2.1. Our view and proposal
Our preference is applying the 2nd option “(ii) min(# active transmitters, 8)” as a scaling factor for emission requirement. The reason why we object 1st option “enumerating the AAS-ETACs” is RAN4 could not clarify how to count the number of AAS-ETAC during several previous meetings.
However, more clarification is necessary to agree the 2nd option “(ii) min(# active transmitters, 8)”.

1. The number of the baseband inputs from the AAS Base Station to transmitter units should be same as # active transmitters.
As an example, AAS whose the number of “active transmitters” is different from that of “the baseband inputs from the AAS Base Station” is shown in Fig 1. In Fig 1, “# active transmitters” is 5, on the other hand, “# of input signals from BBU” is 4. In this case, scaling factor should be defined as 4. It may, however be misunderstood as 5. Namely a set of TXU/RXU#4 and TXU/RXU#5 should be assumed as one transmitter.
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Fig 1. Example AAS which has different numbers between “# active transmitters” and “baseband input”
Proposal 1: After the following clarification is made, apply the 2nd option “(ii) min(# active transmitters, 8)” for emission scaling. If a common baseband input from the AAS Base Station is input to several transmitter units, a set of these transmitter units should be counted as one transceiver.
3. Conclusion

In this contribution, we present out view and proposal how to scale the emission limits. We have a following proposal.
Proposal 1: After the following clarification is made, apply the 2nd option “(ii) min(# active transmitters, 8)” for emission scaling. If a common baseband input from the AAS Base Station is input to several transmitter units, a set of these transmitter units should be counted as one transceiver.
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